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10. Select the INCORRECT statement.
(1) Every rectangle is a parallelogram. : '
(2) A quadrilateral can be drawn if all four sides and ox.le angle is known. it
(3)_ Triangle is a polygon whose sum of exterior angles is double the sum o
It diagonals of a quadrilateral are equal, it must be a square.

I1. If HCF and LCM of two terms a and b are x and y respectively and a+b=x+Yy, |

|
|
2 |
then x? +y? =2 |

2 ) 2 2
(1) a -b° (2) 24a*+b* \-(4(02'*1’2 4) a +2b
12. Two complementary angles are in the ratio 13 : 5, then the angles respectively are :
(1) 13°, 5° @) 125° 55 & 65°, 25° 4) 65° 35
13. The sum of three consecutive multiples of 7 is 357. The smallest multiple is
W12 (2) 126 (3) 119 (4) 116
14. Out of the following numbers which one is known as Hardy-Ramanujan Number ?
(1) 1297 1729 (3) 1927 4) 7219
15.  There are 42 students in a class. Out of these, 3/4 of the boys and 2/3 of the girls come to
school by bus. The total number of boys and girls of the same class who come to school by
bus is 30. How many boys are there in the class ?
(1) 20 < 24 3) 26 @) 16
16. Number of cuboids with dimensions 8cm x 15cm x 20cm stacked together to form a
cube is
(1) 100 \1/90 (3) 80 4) 60
17.

The number of sides of a regular polygon with interior

angle 162° will pe
(1) 18 27 20

(3) 25 4) 24
18. Divya purch
1S

ased 11 books for ¥ 10 and sold all books at 10 for # 11. Her profit/loss percent

(1) 10% (2) 1% 21% (4) 100%
19. Which of the following cannot be true for a polyhedron 9

(where £ = number of faces, V = number of vertices, E = number of edges)

B - E=6

@ V=6 F=8 E=p

(3) V=20 F=12 E=30 V4 Feg Ral
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r reproductive cells than Q does.
 produced by P do not show mobility.
mpmducnve cells for longer period in an individual’s hfe

leased with the same initial speed will travel farthest on
Polished marble surface
(4) Brick surface

[h substances which vaporize dunno burning give flames.
" Luminous zone contains unburnt carbon particles.
The non luminous zone has highest temperature.
(2) (. (i) and (1v)
(4) (i), (ii1) and (iv)

luble carbohydrates ?
() Fung W Protozoa  (4) Nematoda

&P is'made in a piece of cardboard. The hole is illuminated by a torch
‘qﬁhght coming out of the hole falls on a mirror.
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& :' ﬂi‘» g:jb&.ﬁ"&i.“xyﬂ-ﬁ f( ‘Fn | .-
st towards and then away from the lens

~ When the applied force is doubled on an object and the o
becomes : BRI
U’ Doubled (2) Halved (3) Quadrupled ~ (4)

96. Which of the following statements is incorrect regarding metamorphosis
(1) Itis the process of transformation of larva into an adult through

(2) In human beings, metamorphosis does not occur because the young'ﬂ
adults at the time of birth.

(3) Life cycle of butterflies is completed in the four stages involving egg, |
\JA‘)’ A tadpole that hatches out of the egg resembles the adult frog in almost

Study the given correlation.

Heat treatment : sterilization :: Vaccination : X

What would be ‘X’ here ?

(1) Pasteurisation Immunisation (3) Fertilisation  (4)

Which of the following on reshuffling gives the term that refers «
seeds manually by sprinkling them on soil by hand ?

(1) Inigtil (2) glnopuihg ambrdo‘caiés'“'.

pressed on a surface sticks
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‘plant is located in which state of India ?
(2) West Bengal (3/ Odisha (4) Bihar

p in maintaining a balance of

gen and Carbon dioxide (¥ Oxygen and Carbion dioxide
on and Carbon dioxide (4) Nitrogen and Oxygen

(2) Nayanmars (3) Lingayats (4) Chishti

sed to extract oil from the earth is called
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mnqoftehgwn‘\fromthesmteisvrefemdtouuf : S
~ Monarchy (2) Democracy \(})" Secularism

N

11. The first successful modern textile mill in India was established m,;
Q)/ Mumbai (2) Chennai (3) Ahmedabad (4)

112. Which of the following is not an example of ground water 7 3
M Water flowing in rivers (2) Water through hand pnmp 3 o
(3) Water through submersible pumps ~ (4) Water through wells ‘

113. The monazite sands of Kerala are rich in :
(1) Uranium 2" Thorium (3) Platinum @)

114. Which level of judiciary cannot send a person to jail .
(1) Supreme Court ) Nyaya Panchayat N
' (4) Subordinate Court
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quality A (2) Right to freedom
G
nst exploitation \M All of the above

water causes 2 k-
(2) Dengue (3) SwineFlu (4 Jaundice

e the call “Back to Vedas ?
1ja Rammohan Roy (2) Tara bai Shinde
AJ”® Swami Dayanand Saraswati

an object a substance or a resource ?

() Quantity (3) Usability w/ Both (1) and (3)

WL g

(2) Theft
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» P Z is the brother of P. How many female members are there
M 1 <12 3) 4

~ 127. From the given options, find the pair which is similar to the ngen pairr'
'_p)‘ 27:9 (2) 216:32 (3) 72:24 (4) 45:

8. Freya is on the left of the person sitting in middle but is on the right of Bella S
right of Jamie and Austin is on the right of Sara. Austin is the second person f
sitting in the middle. Who is sitting in the middle ?

. () Freya Y Jamie (3) Bella (4) Sara

129. Mr. Das left for his office in his car. He drove 12 km towards North and thep,, 0
. West. He then turned to the South and covered 4 km. Further, he turned to the East 2
"~ 8 km. Finally, he turned right and drove 8 km. How far and in which direction

ot ? R
Mzkm, West  (2) 2km,East  (3) 4km, North

;*y“ 3
i
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(3) 18 \%16

» ‘SHIRT is coded as 17698’

RK' is coded as *5394°
n in that code ?

B
and ‘PANDIT’ is coded as ‘53 2068,

L
(3) 268539 Ly

(4) 151738

ole given below, identify the correct expression.
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- 138. Given pair of figures on the either side of :: has a certain relationship. Id
- between pair of figures and choose the missing figure.

g

Which figure will come next to continue the series ?
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le ‘CERTAIN’ is coded as ‘BFQUZIM’. How is ‘MUNDANE’ coded in that

(2) NTCOMBF (3) NTOCNBF (4) LIMCZOF
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Ui Vi s g 208
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2uepsabove () Isiepabove  (3) Thesameplace (4) 1

In the following question, there is a certain relationship between the two given num

side of (2 2) and one number is given on another side of (: ;) where another number i
found from the given altematives, having the same r‘clullnn\hip with this number as th

of the given pair bear. Choose the best alternative '

100 : 121 :: 144 7

() 160 @) 93 16
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ith day of a month is three days earlier than ¥riday, whatdaywﬂ
byoﬂhemonﬂx"

@ Moy 37 Friday (4) Sunday

»'lb question given below contzins three items, These items may or may not ha
: :mw with ::e another. The group of items may fit into one of the diagrams (l),
Indicate the diagram in which the group of items correctly fits into,

MClaan'ls
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